C. S. (MAIN) EXAM, 2009

Sl. No. 1 8 -? C-DTN-J-NHA
MANAGEMENT
Paper—I
Time Allowed : Three Hours Maximum Marks : 300
INSTRUCTIONS

Each question is printed both in Hindi and
in English.

Answers must be written in the medium
specified in the Admission Certificate issued
to you, which must be stated clearly on the
cover of the answer-book in the space
provided for the purpose. No marks will be
given for the answers written in a medium

other than that specified in the Admission
Certificate.

Candidates should attempt Question Nos. 1
and & which are compulsory, and any three
of the remaining questions selecting at least
one question from each Section.

The number of marks carried by each
qguestion is indicated at the end of the
guestion.

Wherever any assumption is made while
answering a question, the same must be
indicated clearly.

o F . ITgeu w1 fF Ut 39 uvE-uF & fUsd g w
BRI




Section—A

1. Write analytical notes on any three of the
following in not more than 200 words each :
20x3=60

(a) Strategic planning and implementation
in the «context of a business
organization, and the various steps in
the strategic alternatives devised by
L. C. Sorrell

(b) The concept of enlightened self-interest,
and how this relates to the social
responsibility of a business organization

(c) Knowledge-based enterprises

(d) Distinction between innovation and
creativity, and how organizations can
encourage both

2. Explain the following in about 200 words
each : 20x3=60

(a) Networked and virtual organization
(b) Competency mapping

(c) Models in Human Resource Accounting

3. Outline some of the characteristics of super-
teams and self-managed teams. Discuss
guidelines for making teams more effective.

“Conflict is normal and natural when different
people attempt to act in an integrated way.”
Discuss this statement and suggest ways to
deal with conflicts within teams. 60
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1. Pofafas & @ 8 dm w faeunmas feafiat
fafige, = @ v 200 | afas w=ai 4 9 8
20x3=60

(%) =FEH e & g § wiHifds ArsEEo 3
fFaTaaa, TY9T Usle Hle WA FHI ATfawhd
worifaes fasredt o fafsm wem

(@) wgg @ H dwowr, AR F@ FFE w0
e F gEie afia % Wy e wEr 9
rafa gt #

(1) FE-IETiE ITH
(9) TEER 3R Geiekar & o= faNg, au @eA
2T @t fFE THR @ dicaiied & 9&d 8

2. fi=fafiga gy # e 200 =5t 7 T8 FINT
20%x3=60
(%) ugfenfaa o smard gred
(@) wagwar gEREE

(7)) " GEYA AETERO § Hige

3. fudm i w-yafwa dW F o gl Hl s
e i) Mt w3 s uwEt sE F
feanfagen wr ==t Fifsm)

“Sa faftm =fe us chiga als @ FEd FE FH 9AE
FQ &, a9 wer 0y w3 =t g 210
T FUT W 9] Hiw R FE F = W aagi |
foza & als gamsu | 60
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Discuss the misconceptions surrounding the
efficient market hypothesis. Explain the
alternative paradigm of ‘noise trading and
arbitrage’. 60

Section—B

Write analytical notes on any three of the
following in not more than 200 words each :
20%x3=60

(a) ETOP analysis
(b) Time value of money
(c) Brand equity

(d) Internal marketing

Discuss each of the following in about
200 words : 20x3=60

(a) Absorption Costing
(b) Training Audit

(c) Inventory Valuation

Describe alternative methods wused by
companies to finance long-term capital
needs. What is the role of capital markets
vis-a-vis venture capitalists? What role can
the Government play to promote new
enterprises? 60
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4. =& S URGHCSAT % $efR wifadl W 9=l e
‘eaqfy =R iR srat-vve’ & faeedt wfemm =t wE

FHifer | 60

Qaus—da

5. fr=fafas & @ e o w oo foafoat

fofge, R @ g% 200 @ e st 7 9 7
20x3=60

(F) Fo Ho 3o do favetum
(@) 44 =1 §9g qod

(M) =we gl

(2) =raf fagum

6. fr=fafiaa # @ wy&s W @ 200 w=&l # ==t
sHifsa ; 20x3=60
(%) AFZIEUT AT -

(@) widreor gudiago
(1) AT Hew

7. St OSh savawaett & fadtae & foo s
T WK aeieyss faftEt @ vl Hifsm) wifEw
Ysfafeat & gereet OSft o 6t F= fiss @t 27
T ITEt Y dEfa F o wwEr F= gt 1| =
gehdl 27 60
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8. What are the different approaches to

performance management? How do
companies balance between internal equity
and merit-based pay? 60
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8. wr-TAsared yau= & war-aa1 fafssm surm 27 seafaat
I-afes | 3 Argar-Tia 99 & &9 |
THR g STt &7 60
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T84
99 -g3—I
gag - fi9 "o quifes : 300
a9
yedeh v a2t 31 37 g1 7 &ar 21

vl @& 3T 3T greAm d for@d w3 wifae foaer 3ga
37T9% Y- ¥ fHar mar 2, 37K 39 mregH &1 Wy
3PE IW-JEF F §E-Y¥ W 3ifHd [ARE = W
fFar s =ifew) yaw-yg w 3fgfaa aream &
Afafcs 37 fFat aregg 4 fo@d 18 350 W FHiE 3HF
TET et

vT &1 1 3R 5 37faard &1 ardl wea § @ g9
@UZ § FH-H-FH TH v GAH (-8l did 99 &
I gifsra

Yol gvT & fore fAad 375 999 & 379 4 fau 7w &/

v forad oy 4 gauron &1 3g@ W 9 9
fepam AT =nfaa

Note : English version of the Instructions is
printed on the front cover of this
question paper.




